
















































fl. Homogeneous Linear Polynomial $3

03Wa'1(2a,+a,+a,)x,+(a,+2a,+a,)x,+(a,+a,+2a,)x3  = d
Y

ciisaiEln15%O~:1~Pd0~9~F/~)a~O

211 a,

I IllI

0

1 2 I a2  = 0

1 1 2  a3 0

Y

or,L,+  a2Lz+a3L3+a4L4  =  0
L 4

uuntl

a,(2x,+n.,+x,)x,+a,(x,+2x,+x,)+a,(x,+x,+2x,)+aXbl+x,+x,)  =  0

(a,+a,+a3+a,)x,+(a,+a2+a3+a4)x,+(a,+al+a3+a4)x3  = 0

~9n~*l5i7~:L~Od~~S?~~Fi*L~t)

2a,+a2+a,+a, =  0

a,+2a2+a3+a4  =  0

a,+a2+2a3+a,  =  0
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&&J vi = a,V, + a,V,+  + a,-,V,-,  + a,+,V,+,  + -..  + a,V,

d~66a*rh6an6”os”  v,, v,  (..,(  v ,)._.,  v,  Yrlaihiiaistxhi=u
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&JlU 4.11 E := { e,, e2 ,..., e. } 66%  F = ( f,,  f2 ,_..,  f. } n’lJ~l%J  Basis UDJ

Y 1J6ih  Space n iiGi

f,  = a,*e,-ba,,e,+...  +a,,e,

fZ = a2,e, -1  allel+ + a,,,e.
. . . . . . . (1)

f. = a.,e,-ta,,e,+...+a..e,

6?‘fIlfl8$?~1”79t?9  Basis F 65165”ufl66U@ls’f&  P ?‘l Transition Matrix WiS  Change of basis
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